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EMATICS

MATH J
(B) 1371564285
(C) 137064295

1 108, on diiding by 2%, Y05 -

(A) 112
B) 2 (D) 138064295
(Cy 14 8 Squareof0.18is:
(D) 4 (p) 004
2 Inal2-b/5=115aand bare (B}, 00258
related as - (Cr 0256
'(A) 53—3‘3'—"1 D) 04
©) a=h 7. 15%cfZhoursis
(@ 3a-5b=1 BT
Dy a-b=1 .'j;!:r,J s rin
4 The real number 0 005% &80 B2 By 15 rmin
written in fractienal form 232 @ =mr
), " 8 Half of 1 percent IS written with
® 775 decimal as
D) T/11225 ‘;BJ 0.01
4 ldentify the correct ascending order (Cy 0.005
(A) 5/2 < 7/12 <34 <1318 (0) 005
(B) 5/8=<T7/12<12116<3/4 g Dividirig 28% of 450 with 45% of 280,
(C) 5/8<34<13/16< 712 yields
(D) 712+ 518 < 314 < 13/16 (A) 25
5  Evaluate 1234 5+ 123.45+12 345 (B) 128 '
+1.2345 +0.12345 (C) 252
- 13716529
\(ﬁ;, 137165295 (D) 1

KR - 2A/10 (2) Contd.



10.

1.

12.

13.

Average of integers from 11 to 20
is:

(A) 15

(BY15.5

(C) 145

(D) 16

The average of first 10 positive

multiples of 9is :
(A 45

(B) 47.5

(C) 485

(D) 49.5

The average of six numbers is x and
the average of three of these is y. If
the average of the remaining three
isz, then:

(A) x=y+z

(BY 2x=y+z

(C) x=2y+z

(D) x=y+2y

Average of first 10 prime numbers
is

(A) 158

(B) 135

(c) 129

(9'} 10

KR —2A/10

(3)

15

16.

i

Doublé of

@

Atthe annud
interest for WO PEAISS —

of the initial deposit
&VSO%

(B) 32.25%

(C) 225%
27.25%

rate of 15, oy, .

(D)

At the annual rate of 19% 1
cbm-pnunq interest doubles tre
dépﬁsﬂim -

(A) Syears

\(B)—45 years

(C) Byears

(D) 4dyears

Mini .
INimum lime to double the depost

Wi .
th simple interest at annual rate o
12%, is -



18.

19.

20.

2%,

22.

Square root of 25™8s :
515

(B) 254
(C)+ 54
(D) 5B

For terminal decimal representation,

factors in denominator must be :
(A) Z2only

(B) 10only

(C) Sonly

{Q}'/ 2orS

For a real number x, the value of
x+1/x: '

(A)
(B)
(©)
(D)

Is equal to 2 only
Cannot be between—2 and 2
Can be any real number

s greater than 2 always:

Forareal numberx.ifx+1!x:a+b

and x—1 /x=a—Db,then:
(A) ab=1
(B) a=b

(C) a=2/b

()] 22 -b%*=0
A family home has a mplacemenl

cost of Rs. 15 lakhs and it carries
Rs. 8.1 lakhs worth of insurance. In

KR —2A/10

23.

24

the event of a Rs. 50 thousands
loss due to fire, how much would
the insurance company owe to
family ?

(AY Rs.25.090

(B) Rs.26,810

(C) Rs. 27,000

(D) Rs. 28,050

A bicycle is sold at a profit of 16%. If
it had been sold for Rs 20 more.
profit would have been 20%. The

cycle was purchased for
(A) Rs.400
(B) Rs.450
(C) Rs. 460

(D) Rs.500

On selling a book at 10% discount
on the printed price, the shopkeeper
earns 12% profit. The ratio of the cost

price tothe printed price of the book
i5

(A) 47 60

(B) 45 61

(C) 49 56

(D) 42 56

Contd.



25

27.

Aman Purchases a coat for Rs. 630,
after two successive discounts of
3{)-% and 20%. The actual printed
Price of the coat is -

(A) Rs.1.125

(B) Rs.1,150
(C) Rs.1,200

(D). Rs.1.250

A man purchases an item at 80% of
its marked price. VWhat profit does he
earn if he sells it at 17% more than
this marked price ?

(A) 27%

(B) 28%

{5) 30%

(D) 27.5%

In a business, A and B invest in the

ratio of 3 . 2. After the deduction of

10% income tax on profit earned, B

gets Rs. 21 600 What is the total

profit?
(A) Rs. 60,000
(B) Rs. 62,400

(c) Rs: 63,000

@‘}/ Rs. 64,800

KR —2A/10

(5)

28

29

ElH

ﬁﬂ.’ Hs 120 pet ""_'} an
Tungws d wath
are mixed with a trirg
Rs. 150 perkd

430 per kg, ther

2 | the
sweet in

mixture costs s

rice (per kg) of third sweet s

{he p

(&) Rs 125

L

@) Rs 115

(c) Rs.110

(D) Rs.105

On the selling price of Rs. 400, the

difference between a single discount

of 40% and two successive

discounts of 30% and 10%, 1S .

(A) Rs 12

(B) Rs 15
(C) Rs.O

(D) Rs.13.33

On selling an item at Rs. 315, the

profteamed is Rs. 65. Percent profit

is -

(A) 30%
(B) 2759
(©€) 26%

(O) Nearly 20 6%

( Tum over )



31.

32.

33

KR -

A vehicle at A moves with speed
60 km/hr towards B. Another vehicle
at B moves with speed 50 km/hr
towards A, If Aand B are separated
by the distance of 165 kms, then
they will meet at the distance of
kms fromA.

(A) 60

B) 75

(C) 85

(D} 80

The next element in the sequence
02612020, is.

- (A 30

®
(C)
{D)

32

34

36

£ man rows downstream 30 knin 3
rieyurs but takes 5 hours to return back
upstream The velocity of the waler
curmrent s

(A) 2kmmr

FB} 4 krn/hr

(C) 5kmmr

(D) 6Gkm/hr

A 150 meters long train takes 6
seconds 1o cross a man walking al
the speed of 6 km/hr in the opposite
direction The speed of the train s

(A 75 krn/he

2A/10

36.

(6)

35.

7

(B) B0km/hr
(C) 84kmihr
(D) 85km/r

If 30 men complete a work in 42 days
then to complete the same work in
35 days, the men required are

33

34

(A)
(8)
(©)
(D),

If Acompletes a work in 24 days but

35
36

A and B together complete the same
work in 15 days, then B alone will be
able to complete the same work in .
(A) 40days

(B)
(C) 35days

36 days

(D) 32days

A does awork in 10 days and B does

the same work in 15 days In how
many days they together will do the

same work ?

() [ days
(C) i days

(D) 7 Hdays

Contd



38. A ty
re has
two PUNctures The first distance in s5g

41 A train covers

lone can made the tyre flat he average speed of

minutes with !

N9 minutes but the second alone 65 ken/hr Whalgmmd bathe spea
can do it in 6 minutes. Then, both of this train to reduce the time. of
Punclures together can flatien tyre journey by 4 minutes ?

w (A) 68 kmmr

(A) 3 min 30 sec (B) B9 km/Mr

(B) 3 min 36 sec () 70km/r

(C) 3min48sec (D)~ 72kmihr

(D) 3min60sec 42 A and B together have Rs. 1,240 If

39. Howmany minutes doesa cycle take dlisafAsamountis equalio s

[ 'S¢ h ces
to cover a distance of 400 m, if it runs B's amount, how much amountd

Bh ?

at a speed of 24 km/hr ? o

(&) Rs 450
(A 2

¥ (B] Rs 468

(By 16

(C) Rs 484
(C) 12 -

(D) Rs 498
(D) 1

4% Ina mixture of 54 Litres. thea ratio of
40 What could be the speed of an

milk and wateris 2 1 Ifthis ratio s
athlete, who runs 1 600 meters in 3 tobe made 1 2. then the quantity of
minutes and 45 seconds water to be further added s
{f»‘} 25 6 kn/hr (A) 54
(B) 24kmi (B) 48
() 228kmihr 5 %

(1) 18
(D) 20 krm/hr
(1) ( Tum over)

KR - 2A/10



44,

45,

46.

47.

KR -

Two numbers are respectively 20%
and 50% more than a third number.
The ratio of these two numbers is :
Ay 2:3

B) 3:4

(C) 4:5

(D) 5 6

Seats for Science, Commerce and
Ats in a degree college are in the
ratio 5:7 . 8. These seals are to be
rr;;:reasgd by 49%, 50% and 75%
re—s_.péctwely. What will be the: ratio of
increased seats ?

Ay 234

(B)
(C) 4:5:6

3:4:5

(D) 5:6:7

Mean of first 13 values is 18 24 and
that of next 13 values is 17 66 VWhat
is the mean of all 26 values “

By 17.36
(B) 18.12

(L1817

b x Mean, we have *

(A) a= 3andb=-2

oAI10

48.

50.

N o

(B) a=b=05
(g} a=2andb=-1

(D) a=15andb=-05

The mean weight of 60 students in a
class is 42 kg. The mean weight of
boys is 46 kg and that of girls is
38 kg. The number of boys in class
is:

(A) 33

(B 32

(C) 31

(D) 30

For the data set 29,3248, 50, x,

x +2 72. 78, 84, 95 in ascending

order to have median 63, the value

of xis

(& 60

(B) 61

(C) 62

(D) 63

Area of a triangle with sides of
lengthsSm,4m and5mis
(A) T5M ‘

(B) 6m’

©) 1om’

@ 12m’

-~

contd:



BASIC COMPUTER SKILLS

51. Whj
‘ hic
R of the fallowing is not
arn

Operat. ;
P rating System Developed by o S .

Micr
osoft ? (C) 8
(A i
) Windows 7 (D) BServef
(B) Wi
indows 9 55 \Which service® is provided Dy

(C) wi
: EEseC Windows B put not by Windows 77
(D) Windows 10 |
' (A) Windows Store
52. i i
Which is not a Mobile Operaling (B) powerShell
System ?
(Cy"Both (A)and (B)
(A) Android
(D) None of these
(B) PalmOS
(C) BADA 56, Which of the foliowing is not a file
@/"Windﬂws Xp system ?
(A} FAT
53 In MS-DOS you can use small of oy A2
capital letter of combination of both (B) 1509006
to enter @ command, but internally () 1S0 9660
- rks with .
MS-DOS works ith @L- 1.

(A) Small letter
57 The File System not supported by

(B) Capital letter

wWind Bis:
Math (A)and (B) neonsEe
(A) HPFS
(D) None ofthese
(B) REFS
4 What is the code name " (©) UDF
Windows8-1'? D) B
oth (A
(A) Blue e
(9) (Tun‘lﬂ‘-‘e'}

KR - 2A/10



58, While working with MS-DOS which
key is used to get the previous
command used 7

(A) F2
(B) F3
(C) F4
(D) F9
50. \Which is notan executable extension
of Windows Operating System ?
(A). BIN
(B) MSI
(C) COM
(D) OSX
60. Which browser cannot be used in
Linux Operating System ?
(A) Arora
iaj - |nternet Explorer
(C) Kongueror
(D) Lynx
§1. Whatis gutter margin ?

(A) Margin that is added 10 pight

margin when printing
(B) Margin that 1S added to the left

margin when printing

KR_.ZN"ID

62.

63

64

(10}

(C) Margin that 1s added !5 the
outside of the page wher

pnnting

(0) Margin that is added to the
binding side of page when

printing

Typeface option will come under
which menu ?

(A) Edit

(By View

Ly Format

(D) Tools

How many maximum number of

columns can be inserted In the hS-

Word 2010 document 7

(®) 45

(B) B3

(Gl 63

(Dy 64

Hew mariy maxiamuim number of rows
Cat b nserted in the M5 Woid 2010
dacument ?

(A) 32768

(By 32767

() 65535

() BHHI6

Contd



85. Borders Can be applied to :
(A) Cells
(B) Paragraph
(C) Text

(D) All of these

86. To view headers and footers, you

mustswitchto:
(A) Normal view
(B) Print layout view
(C) Print preview mode
) @y’Emh (B)and (C)
67. What are the shortcut keys for
Superscript and Subscript ?
(A) Ctrl+ Shift+=, Ctrl+=
(B) Ctri+ Shift+=,Ctrl+ Shift ++
(C) Ctrl+ Shift ++, Ctrl+=

(D) None of these

g8. Use of “Spike" Feature in Microsoft

Word is :

(A) Collect text on the clipboard
from multiple locations and
paste it all atonce

(B) Allows you to edit auto text

entries while using index

| KR-2AN0

69. How will MS word res

70.

(1)

71.

(C) Collect text, @

udio, video from

multiple lncations inta the

decument

(D) All of these

pond. if you

type the same word repeatedly ina

sentence 7

(A) A Red wavy line under the
repeated word

(B) A Green wavy line under the
repeated word

(C) A Blue wavy line under the

repeated word
.
(D) No response
How can you increase the font size

of selected text by one point atatime
in MS Word ?

(A}~ By pressing Ctrl +>
(B) By pressing Ctrl+|
(C) Bypressing Ctrl <
(D) By pressing Ctrl+]
How many maximum puUmee

! A e
columns can be inserted iy 1

PowerPoint 2010 docume™ '
@V 45
(B) 65
(D) 70
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80. The Objects on the slide that hold text
are called :

(A) Placeholders
(B) Object holders
© Object container
(D) Textholders

81. Slicer feature is introduced in which
Excel Version 7
(A) 2007
(8) 2010
(Cy 2013
(D) Office 365
82. \Whatis the shortcut key fo pop-up the
ribbon keytips using Keyboard ?
(Ay Citr
(B) Alt
(C) Shift+Alt
,L{D} Ctrl + Shift + Alt

83. WhaidﬂestheULDDKUPfunmion'_?
(A) \ertically search the given

string

(B) Checks whether text is the

same In one cell as inthe next

(C) Finds related records by
vertically Lookup the given
information

(D) Allof these
N

KR - 2A/10

84. What is the

(13)

size of Workshee! -

Excel 2013 7
LAl 1.048,565 rows DY 16

columns

384

(B) 1,048,576 rows by 16,3865
columns
(C) 65,535mwsby15,365cmumr15
(D) 1.048,576 rows by 16 384
columns
g5 \What is the Zoom range of
\Worksheetin Excel 20137
(A) 10%to 400%
(B) 20%to400%
(C) 1%to 16%
D) As per our requirement we can
zoom inand zoom out
86 VWhich function is introduced in Excel
2013 7
(A) GAMMA
(B) XOR
(C} Both (A)and (B)
(D) MNoneofthese
g7 Youcan activate a cell by pressing
(A) TheTab key
(B) Clicking the cell
(C) Anarrowkey

(D)~ Allofthese

(Tum over )



88. p
aper Spreadsheets can haves all the 62 The length of e s uod 0 s sz,

same advantages as an Elesetromne, 201% in
Spreadsheet, except which of he (h) 20
following 7 ® 14
@)/Rmand columns ©) 16
(B) Headings (D) 24
(C) Speed
(D) None of these 93 What is the total number of Ghject,

in the dataset and number of
89. Tocalculate 5%, which of the following

formula is correct in MS Excel 7

characters in an ohject name 7

(A) 32,768 and 64
Power (5 4
(A) Power (5" 4) (B), 32.768and 52
(B) Power(5 4 :
) ) (C) 32,568and 52

p P =r {4 '5)
(_QJ = 1 (D) 32,568 and £4

(D) Power(5"4)

y 94, Custorn web app feature introduces
11 16 B10 cell,
90 To calculate Sum of BE110 & in which version of access ?

the formula s -

(A) 2007
(A) SUM(B1 B10) ©) 2010
(B) SUM(B1-B10) ©) 2013

(C) SUM(E1, B10) (D) None of these

d (B

k@/ﬁﬂlh el 1 g5 Which of the following queries can
g1. Which of the following i Not 3 create atable 7

database object 7 (A) Append

(a) Tables @ Delete

(B) Queries () Make- Table

s
D) Rere —
14)

KR__zN‘iD (



968, Whi
hich of the fn“owing

I8 not a data (C) BBytes

CCess
99 In table design view. which key can
(B) dBase ba Ui E witch petween the field
(C) MongoDB hames and properties panels ?
(D) PostPreSQL (A) F3
gl 72 (B) F4
97. Which is not a data type of MS }
| C) F5
Access 2013 ? (©)
(D) FB&
(A) MEMO
| g Access stores
multimedia files 1.€. audio, video and
@y OLE ’
image ?
R
@ [REE (A)- Varchar2
8B. Tthidtl‘lnfDATEfTIME Fieldis : @y OLE
@y 16 Bytes (c) MIME
(B) 4Bytes (D) Vananl

(15} tTumG\'Ef}
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' nmr| Exclusive Coaching for UPSC/OPSC/WBCS

ANSWER KEYS OF OPSC JUNIOR ASSISTANT EXAMINATION- 2019 (PAPER-3)
Q. | Test Booklet Series Q. | Test Booklet Series Q. | Test Booklet Series Q. | Test Booklet Series

No. A | B | C| D No.| A | B | C | D No.| A | B | C | D No. A | B | C| D
1| c|d]d]a 26 | c [ d|b|d 51| b | d|a|b 76 | d | b |d| b
2 |a|c|bjec 27 | a | b|la|c 52 | d |c|c| b 77 | b | d | b | c
3 | clajc|d||28|d|c|c|a|[58|c|c|lc|d||[78]c|clc|b
4 |d|dja]c 29 | a |a|d| d 54 | a | b|a|d 79 | d | b | d]| b
5 | afc|b)|a 30| c | b|b|c 5 | b | d|c | a 80| a |a|c| b
6 | b|lajd]c 31 | d | a|c|c 56 | b | d|d]| b 81 | b | c|b|d

el \/ BN SPECIAL CLASS

‘ New Batch Starts from W m Daily 2 Hour Class
¢ N 12" December 2019

Weekly 6 Days
Time : 9.30am - 11.30am 05" DECEMBER 2019 ‘05" DECEMBER 2018 05" DECEMBER 2013 s
FSEN"] BONGM"} | 10001 (for Non-Vanil Students) | 500/ for Vanik Students) Berhampur: 2pm-4pm | Sambalpur: 4pm-6pm Duration : 1 Month

Including Study Material and Test Series Z1500/- (for Non-Vanik Students) | % 1000/- (for Vanik Students) 10“ hr c[a“

v u! FH Lending Instituts for Banking, Raiway & SSC

7 a c | c a 32 | a c | a d 57 | ¢ c | b d 82 | b b | d]| c
8 c d | a d 33 | a b | d a 58 | b d | c c 8 | d b | c c
9 d c | d a 3 | c d | c c 59 | b [ c|d]| Db 8 | d c | a b
10 | b a | c c 35 | d a | b | a 60 | b d | a a 8 | a c | b | d
11 | d c | a c 36 | a c d| c 61 | d a | b c 8 | b | d | b | d
12 | b a | c a 37 | c d| a a 62 | c c | b b 87 | d b | ¢ c
13 | ¢ d| d]| c 38 | b a | a d 63 | c c | d]| b 88 | ¢ c |b | d
14 | a a | ¢ d 39 | d c | c c 64 | b a | d| c 8 | b d| b | c
15 | b c | a a 40 | a a | d b 65 | d c | a c 90 | a c | b | d
16 | d c | ¢ b 41 | ¢ c | a] d 66 | d [ d [ b | d 91 | ¢ b | d| a
17 | ¢ a | d| a 42 | d a | ¢ a 67 | c b | d b 92 | b | d | c c

hd YA N

LEREY A Loading Institute for Banking, Railway & SSC

passc

ASSISTANT SECTION OFFICER
New Batch Starts from

19" December 2019 : m LA . B Do
EVENING BATCH |  MORNING BATCH i NOTIFICATION OUT

Time : 6.30pm-8.30pm | CRP | Time : 7.00am-9.00am | SAHEED NAGAR e BOOK YOUR SEAT, CALL

Top 3 RANKERS wil feicitate CASH AWARD in VANIK INSPIRATION-2019 on the SAME DAY OF TE

3T,

Admission free ft 3 rank holders and discount il by other rank holders. Sealdah C: 1 Compl
Imission free for top 3 rank holders and discount can avail by other rank holders. 6th ﬂnoreglggaz;:.“;:lel;f;ag Kl:)l'll}(]:;t(?aXWB 700014 6293556677 / 7449556677

Among all VANIK REGULAR, ONLINE TEST SERIES & NON-VANIK Students

H H o Bl (ID Card & Exam Hall Pass Compulsory)

Dmly 2 Hour Class I Duration : 6-8 Month Test Time: 8:00 am - 09:00 am, Discussion: 09:15 am - 11.15 am CRASH COURSE FOR AT ACHARYA VIHAR
(2 Month Free Test & Discussion| : £ .,UESTE,,',,S m“
e e 225001 for Vani students = ﬁ Ergish Logusge 2mines ssc-c “s 1201 9 COURSES OFFERED
[ Complete Study Materials |  7]4500/- (for Non-Vanik Students) = 2 Reasoning Abiy 35 35 20 minutes @ Regular Classroom Courses

1 5 Quanitatie Apiude % % 20mies [ - Notification Out -\;Veikfnsc: Cdlascsw«m Courses
s |E our 8 g © Postal Study Course
ONLINE TEST & DISCUSSION | L T New Bateh Stars rom ez
. Venue of Exam: CRP & CUTTACK sgipo (PRE)-2020 : 18“‘ December 2019 AT RIS @ Dffline Test Series
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